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Educational programs conducted by the Texas Agricultural Extension Service serve people of all ages
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Nitrogen Fertilizer Calculations �Cheat Sheet�
Gene R. Taylor, II and Scott Abernathy

Extension Turfgrass Specialist and Extension Assistant

This publication is intended to provide home owners, athletic field managers, golf
course superintendents, and other turfgrass professionals with a quick reference
sheet for determination of the amount of fertilizer required for their lawns, based on
the nitrogen analysis of any selected fertilizer.

To use this table you need to know three things:

✓ The nitrogen (N) analysis from the fertilizer you want to apply to your
lawn

✓ The amount of N you want to apply per 1000 square feet.
✓ The total square footage of your lawn.

For example:

✓ You have a fertilizer with an N-P-K analysis of 15-5-10.
✓ You want to apply ½ pound of N per 1000 square feet of turf.
✓ Your lawn area is 8500 square feet.

Go to the provided table.  Look under the column titled “Fertilizer Analysis” and
find 15 (the N analysis in the 15-5-10 fertilizer).  Read the number under the col-
umn titled “1/2 lb. N”.  In this case you will find 0.0033.  This is the amount of
fertilizer you need to apply ½ pound of N per square foot of turf.  Now simply
multiply 0.0033 lbs. by 8500 (the total square feet in the lawn).

0.0033 x 8500=28.05 lbs. of 15-5-10 fertilizer

So now you know that you need to apply 28.0 pounds of 15-5-10 fertilizer to your
lawn, to apply ½ pound of nitrogen per 1000 square feet.

This simple system will allow anyone to accurately calculate the amount of fertilizer
required for any size lawn.  It works with any type of fertilizer, organic and inor-
ganic, as long as the N-P-K analysis of the fertilizer is know.   Remember that your
fertilizer applications should be based on sound agronomic practices and a recent
soil test.  *Never apply more than 1.0 lb. of soluble N per 1000 square feet, at any
one time.

Texas Agricultural Extension Service • Edward A. Hiler, Interim Director
The Texas A&M University System • College Station, TX

Fertilizer Calculation Table
% Nitrogen                 Amount of N per 1000 square feet

Analysis 1/4 lb. N 1/2 lb. N 3/4 lb. N 1.0 lb. N

1 0.0250 0.0500 0.0750 0.1000

2 0.0125 0.0250 0.0375 0.0500

3 0.0083 0.0167 0.0250 0.0333

4 0.0063 0.0125 0.0188 0.0250

5 0.0050 0.0100 0.0150 0.0200

6 0.0042 0.0083 0.0125 0.0167

7 0.0036 0.0071 0.0107 0.0143

8 0.0031 0.0063 0.0094 0.0125

9 0.0028 0.0056 0.0083 0.0111

10 0.0025 0.0050 0.0075 0.0100

11 0.0023 0.0045 0.0068 0.0091

12 0.0021 0.0042 0.0063 0.0083

13 0.0019 0.0038 0.0058 0.0077

14 0.0018 0.0036 0.0054 0.0071

15 0.0017 0.0033 0.0050 0.0067

16 0.0016 0.0031 0.0047 0.0063

17 0.0015 0.0029 0.0044 0.0059

18 0.0014 0.0028 0.0042 0.0056

19 0.0013 0.0026 0.0039 0.0053

20 0.0013 0.0025 0.0038 0.0050

21 0.0012 0.0024 0.0036 0.0048

22 0.0011 0.0023 0.0034 0.0045

23 0.0011 0.0022 0.0033 0.0043

24 0.0010 0.0021 0.0031 0.0042

25 0.0010 0.0020 0.0030 0.0040

26 0.0010 0.0019 0.0029 0.0038

27 0.0009 0.0019 0.0028 0.0037

28 0.0009 0.0018 0.0027 0.0036

29 0.0009 0.0017 0.0026 0.0034

30 0.0008 0.0017 0.0025 0.0033

31 0.0008 0.0016 0.0024 0.0032

32 0.0008 0.0016 0.0023 0.0031

33 0.0008 0.0015 0.0023 0.0030

34 0.0007 0.0015 0.0022 0.0029

46 0.0005 0.0011 0.0016 0.0022
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